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RIATAR-ANEREEEEE S030 F0T I 00T ToahOTLe0d ACLB0D, BIC3IBIToeTenN
FBROVE -~ D00 AAFIOHOZ  ------- B dR393.98), oo
WRITMN TN T Te3DA DHe,N  PBOIE d@@jﬁ@oﬁb:ﬁ TN
F2000NT), BAFRIT. 3, BTG Cyed - TOWY e3TODA, B30
239E3RANOT T B,0ND, ONAE JONR oDy ------ BEIBRTIR0.

o Nat>d ea;_d,pdoai:eso#ﬁ% : 28 :
N Eh NS FB,AOR 2-3 WeTNY ) eI D (234=8)

1. FRCDNG SRANOT DoY) DV 3T, 3RTODIITI L=3?
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3. Buon ToBROTIR, Téd, WONAII Fed VI VT3 LRI, BT
23N vesded)?

4 TREEE  BE5E 03983 0BTHT, e 23023,,eD?
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X, & 2N FB,NOR 4-5 w08, 3 DA. (3x2=6)
1. 33,3 FoCDOHRD, eHTCHEN AO3500C) DT?
2 BIS FWOTTE, BROVY DOT BATI WIL FaOeeedt3d?

X| gk 2PN 539%:8 B0BPFRDZ T, O/ ITIDA. (33%2=6)
| e REIa SRR, BAtEER) shia e
(EIaTAD)

"533,00 SRR, ONTRODBE”

5“0 220D 139D WIHR-ForRE B Serniel:N
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"0 395300 ROGEEEN BLe33030),"

Xil. s 2INS 3,1 9R 8-10 TP, oo, DA (3] =4)
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e P eIe
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o %  SINDHI HIGH SCHOOL, BENGALURU
L HALF YEARLY EXAMINATION - (2021-22)
Subject: L3-Sanskrit

Class:*VIII Sec- : Max Marks: 30

Name : Timings: 1Hr

Roll.No: Reading time: 8.00-8.10 am
Date: 01.10.2021 Writing time: 8.10 -9.10 am

No. of sides: 4

&,

I. Observe the picture and make 4 sentences with the help of words given in help box.

R sgaT, weoETET: R Rear ¥ e fomw 1X4=4
(FETT:, e, SfET, sem, awes, wgan, Sfedr, e, g )




Il. Answer the following questions based on the Given passage .
TTAE WY AT, P IqT

Tege Te freae meafy, wifee w5 wwen, ¥ wdg-feeiy ) R
TS HRE WA, WA T FEATYEe |

UHST forsAr: "R wrerge eequa | I TN aMSEld,  dTaeq),  gmEeql |

gﬁﬁwsﬁmlﬂwsﬁaw TR ey wF: T¥e ey, wivaag =
T T FE el

T M e | F qURA STEIE, AR, WS ¥ | FOHAH a9
fareqq s forsam: TREEH ereE |

mﬁ;ﬁaﬁaa:a&am?maaamwéﬁmﬁwwww
daaq 9 gRaTs aft ¥ afey, @ emEwq fey

qIE: - HEAET AR Taga 9| s

) @tﬁw g | Answer in one word “ X4 =2

9. & W 9sAfd ? =

7. F: oaEeaq ? e

3. Flgw: T AT 2 -

¥, T ATER FAgdAd ? - - - -

M) qEfaTRT I | Answer in complete sentence. 1X2=2
T frearg B el 2

2. e R s 2

%) FfeER I 1 Do as directed. % X4 =2

. I W @y ARy e

. T OEEY 9YEYSq A =R fPrag p o

3, wAe avw R 999 9 forad | R .

¥, forsar gwey Ol a9 9 a1 - _

pA



Il Complete the table with correct forms of verbs sha framest: ﬁwm“rﬁ T
( avsq AR, Fo@ @w amwamh,w awrﬁrr:[; % X8 =4

4T RETECL : FER R ‘ o EEEEA o

4
1| 3

IV. Make questions based on the underlined word with the help of words given in the help box.
YERFquR arger weqEmEn: et frer ww Rl 37 1X4=4
( wT, w0, FH, FA )

1. arfesr RemeEs Tt )

4, WTAT ATETATH TEA B

V. IR @—ﬁﬁ@: f@d | Rewrite the sentences in past tense 1X4=4
( FTeY , dEEq , MY, FEEA )
m -':n-q- W a—% | e e e e e e ,..‘.,‘.._...._._.._._.,,,,,‘,.._..__..

Y

HEH ITSH a1 | e s iy S
¥ dTEn m | e R R AR T



vi. gaAggTR RreEr Raeararf® @@ 1 Fili in the blanks with appropriate pronouns

(aﬁf%\r’m-f 9, T_ﬁ-\ : 1X4=4
P . Srw: TSR | P — ]
?. AR grateq | 3. m l
s il s TR e

€. wATRY wefr wf | §, e e W

-

vt IR e Rrar feamamrR @ Fill in the blanks with the appropriate word, 1 X4 = 4

1 TR e I TR | {§TTAT, 9MeTd, STTSITATH;

§ I ——— T TEE | cqrETd,  WHTATE, e
3. T g 9T ST | (XA, TR, TR

¥ . ®E|rT Fogfa 1 (T, Y, A,

% ¥ ¥ X ok ¥ k X ¥



SINDHI HIGH SCHOOL, BENGALURU
HALF-YEARLY EXAMINATION [2021-22]
SUBJECT: MATHEMATICS

Class: VIII Max Marks: 80

Date: 04-10-2021 Reading Time : 15min
. No.ofsides: 5 Writing Time : 3hrs .
. Part - A: .

1. It consists two sections- I and II.
2. Section I has 16 questions of 1 mark each.

3. Section II has 4 questions on case study. Each case study has 4
case-based sub- parts.
Part - B:

1. Question No. 21 to 26 are very short answer typ?: questions of 2 mark
each.

2. Question No.27 to 33 are short answer type questions of 3 marks each.
3. Question No. 34 to 36 are long answer type questions of 5 marks each.

All questions are compulsory

S B & e

8.
1.

Part - A:
SECTION-T 1X16=16

. e e ) 1
. Write the multiplicative inverse of the rational number - o

Convert this statement into an equation.

"

: ' L ’ .. 3
"If the denominator of a fraction is two more than the numerator then the fraction is -

State one difference between kite and a rhombus.
How many numbers lie between the square of 13 and 14 z
Mention the digit present in the unit’s place of cube root of 17576.

“The population of a country and area of land per person.” Can this statement be an

example for inverse proportion? Justify.

5 5 1yt I
Find two rational number between 5 e}nd 2 1
L4 )

Solve the equation 2(x-3) = 3(3-x)

Draw a concave quadrilateral and also depict it's diagonal

10. Check if x= -3 is a solution of the equation %‘&30 =x+18

11.In the given parallelogram ABCD, DO=x+2 and OB= 3 find the value of x.
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12. Observe the pattern and write the next two terms.

1, 3, 6, 10, 15,—,—~
13.Find the length of side of a square whose area is 625¢cm?
14.1f x 3-1 =26 then find “x”.

15 The scale of a map is given as 1:90000. Two cities are given 9cm apart on the map. Find the
actual distance between them.

16.Find V4225 by division method

SECTION -11
CASE STUDY -I: . 1x4=4
17.Ms, Sharada a teacher of Mathematics selects four numbers 49, 30.25, 225, 15625.

Pertaining to each of these numbers she creates following questions.

Carefully read these questions and answer them

a) 49 can be expressed as ~
1) the sum of first 7 odd numbers it) the sum of first seven even numbers
iti} the sum of first 10 odd numbers iv) sum of first 10 even odd numbers

b) v30.25 has

i) 3 decimal places ii) 2 decimal places
iit) 4 decimal places iv)1 decimal place
¢) V225 is equal to
! )15 ii) 152 iii)3 iv)35
d) The number of digits in the square root of 15625 is
)5 ii)3 iii) 2 iv)6
CASE STUDY II: 1xd=4

18. Tile designing is a creativity. Advances in technology have given wood look like tile almost
identical authenticity and warmth as real thing.
Observe these tiles and answer the
following questions.




o

The shapes of these tiles are
i) Nonagon i1) Hexagon iii) Pentagon iv) Septagon
b. Sum of exterior angles of each of these tiles is

1)180° i) 120° iii)360° iv) 720°
¢. Number of diagonals in each of these tiles is
iyé i) 9 iii) 8 iv) 5
d. The tiles are
i) Simple and closed ii) Simple and open
iii) concave polygon iv) closed but not simple.
CASE STUDY 1II: 1x4=4

19. Aditi makes two cards for her two brother. The length of first card exceeds it’s breadth by 3.
She increases length and breadth of first by 2cm, then the area of the second card is 70 sq.cm
Read these situations and answer the following questions.

a. If x represents breadth of first card then length is represented by

) x+3 i) 3x iii) x-3 iv) x/3
b. Area of first card is represented by
i) (x+3)( x+3) ii Jx(x+3) iii)% iv)

¢. Length and breadth of second card are respectively equal to

)x+3 and x+2 ii)x+2 and x+3 jii)x and x+5 iv)x+5 and x+2
d. Which of the following is correct?
) (x+5)(x+2)=70 i) x(x+3)=70
iil) (x+5)(x-2)=70 iv) (x-5) (x+2)=75
CASE STUDY -1V: 1x4=4

20. Length of 5 plants and corresponding length of their shadows are collected and data is
displayed with the help of a table.

x (3 (6 [13118]20
y |12]24|a |72;80C

x- plant length  (in mts)
y- shadow length (in mts)
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21.

22.

23.
24.

25,

26.

27.

29.
30.

. Which of the following is correct?

i) x is directly proportional to y ii} x is inversely proportional to y
iii) both i and ii iv) can't be decided.
. The constant of proportionality is
1 .
i) 36 i) = iii) 9 iv) 20
. The value of a is
i) 25m i1)85m iit)52m iv)76m

. If x is directly proportional to y ,then which of the following is correct?

i) x~ y is constant i)} x-+y is constant
iii) xy constant iv)g- is constant.
Part-B
SECTION -1l 2X6=12
Use the appropriative property and simplify '
2 5 2 1 £
-=X= + .= X =
3 &6 3 6
Mention the property used

Rene is 6 years older than her younger sister. Afier 10 years sum of their ages will be 50
years. Find their present ages.

To construct a square of side 5 cm, which of the properties of the square must be used?
If the measure of each exterior angle of a regular polygon is 36 °, find the number of sides of
the polygons.

Praveen takes 125 minutes to walk a distance of 100 m. What distance would he cover in

315 minutes?

Simplify the following
V400 + /900 + +160000 "y
SECTION-1V ' 3x7=21
1 3 -1
Verifya+(b+c)=(a+b)+c. Where a= E; b=z; c=—2—;Namethe property.

Anshu makes a cuboid of plasticine of sides 15 cm, 30 cm and 15 cm respectively. How
many such cuboids will Anshu need to form a cube.

Find ¥13824 by prime factorisation method.
If 14 is a member of Pythagorean triplet, find the other two members.

Page-4



~31.

32.

33

34.

33.

36.

JUMP and RISK are two parallelograms. TP S

a
. 7105 3
Find the value of *x’. / 5

o

u Mt

If x> and ‘y’ are in inverse proportion, find the value of a, b and c.

X [25115}|b |10
y |3 |a |4 ¢

Is 95832 a perfect square number? If not by which smallest number should this be divided so
as to make this a perfect square number.

SECTION-V 5X3=15
2x+2 " ___x_—l_

3 5
Also verify your answer.

Solve for ‘x’
Answer the following questions as per the instructions given in the bracket.
) 2 5 5 2

1) > X 5 =B X z (Name the property)

= 0+ _?7 (Name the property)

4 4
1ii) ;X ] = 3 =1 x %3 (Fill in the blank and name the property)

X - ( Fill up the box and name the property)

=

p—
i

”

—
I

H

p—y
I
~1 =
»
wn |3
=
Wiw

Construct quadrilateral ABCD where AB= 7 cm, £B=120°; 2C=55° ; 2D =70° and

AD=8§ c¢m.
% 3k A ok ok s ok ok o ok ok 3k ok ok ok
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-"“g‘% SINDHI HIGH SCHOOL, BENGALURU
: HALF-YEARLY EXAMINATION [2021-22]

SUBJECT: SCIENCE

e fy

Class: VIII Max Marks : 80
Date: 07-10-2021 Reading Time : 15min
No. of sides : 7 Writing Time :2hrs30min

 §

General Instructions:

The question paper comprises four sections A, B, C and D. There are 36 questions in the question
paper. All questions are compulsory.

Section—A - question no. 1 to 20 - all questions are one mark each.

These questions contain multiple choice questions (MCQs), very short answer questions and
assertion - reason type questions. Answers to these should be given in one word or one sentence.
Section—B - question no, 21 to 26 are short answer type questions, Carrying 2 marks each. Answers
to these questions should in the range of 30 to 50 words.

Section—-C - question no. 27 to 33 are short answer type questions, carrying 3 marks each. Answers
to these questions should in the range of 50 to 80 words.

Section-D — question no. - 34 to 36 are long answer type questions carrying 5 marks each. Answer
to these questions should be in the range of 80 to 120 words.

SECTION A

1. | 1. Write the molecular formula of the following compounds: 1
i) Ammonium carbonate  ii) Potassium chloride

2 | Sita prepared a large quantity of lemon juice and decided to store in aluminum ; 1
cans, By knowing this, Laxmi her friend, advised her not to store in it. Support
Laxmi’s action with reievant property of metals

3 | Why are fishing nets and climbing ropes made using nylon? 1

4 | Kiran and Loma are friends and their height and weight are more or less same. | 1
Observe the figures given and write whose shoes will give a deeper
impression on the wet ground. Support your answer with a suitable reason.

5. ! What is the net force acting on a body, when an equal and opposite force is 1
acting on it? Write an example.
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A force of 24 N acting on a body results in 8 Pa. Find the area on which it acts.

What is drag? State any one factor which affect drag.

Why are ball bearings used in machines?

Name the device used to measure the magnitude of an earthquake.

10

Choose the incorrect statement in the following during soil preparation is
a) Loosening of soil helps roots breathe easily.

b) The soil organisms die in the process.

c) The different layers of the soil are thoroughly mixed.

d)The manures and water can uniformly distributed.

11

Mention any one protozoa and draw its structure

12

Mention any two uses of cultivator.

13

Name any two common moulds.

Question No. 14 to 16 consists of two statements — Assertion (4) and Reason
(R). Answer these questions selecting the appropriate option given below:

A. Both A and R are true and R is the correct explanation of A

B. Both A and R are true and R is not the correct explanation of A

C. A is true but R is false

D. A is False but R is true

14

Assertion: The valency of Aluminium is 3 + and oxygen is 2 -
Reason: The chemical formula of aluminium oxide is AO2

15

Assertion: Spoiled food emits bad smell and has bad taste.
Reason: Natural substances like salt, sugar, oil and vinegar helps preserve
substances for a long period of time.

16

Assertion: Agriculture is an old economic activity.
Reason: Farming does not depend on the climatic conditions of the region.

17

Read the following and answer 17(1) to 17 (4)

Satish was a farmer who wanted to grow healthy crops and obtain a handsome
profit along with it. So, he contacted his mentor to get more information
regarding the most appropriate way to adopt the right methods and get a good
yield in his large fields. Help Satish select the right options from his mentor’s

suggestions.
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1. Soil fertility can be enhanced by

i) Mulching the soil with young flowering leguminous plants.

ii) Growing the same crops in different seasons.

iii) Using nutrient based fertilizers and manures.

iv) Using only fertilizers as they are easy 10 store, transport & handle.
v) Using manures as they are easily available.

a) i, i, iii b) ii, ii ¢) i, iii, v d) ii, iv, v

2. The following information on irrigation methods given in column I and IT to
identify the best method of irrigation Satish’s mentor suggested.

COLUMN I COLUMN I

A) Moat & Dhekli P) Ideal for uneven lands with water scarcity.

B) Drip system Q) Cheap but lots of water is wasted.

C) Sprinkler system | R) Requires lots of labour and time.

D) Rahat S) Saves a lot of water as it directly reaches the roots
a)A-S;B-P;C—Q;D-R c) A-Q;B-P;C-S;D-R
b)A-R;B-S;C-P;D-Q dA-R;B-P;C-5;D-Q

3.The table given below shows conditions in which the seeds can germinate,
identify the right one

a) | Healthy seeds sink Seeds are sown not too deep inside the soil
in water

b) | Healthy seeds float Seeds are sown at regular intervals with seed drill
in water

¢) | Healthy seeds are Seeds are broadcasted on the surface of the soil
suspended in water

d) | Healthy seeds swell Seeds are sown in a small plot of land
| in water '

4 The harvested crop needs to be stored for a regular supply throughout the
year & the storage methods Satish can adopt are

a) Place the harvested crops in storage cans.

b) Place the grains in sun and store in jute bags in a dark room.

¢) Sun dry the grains & store in cold storages.

d) Use mechanical driers and store them in granaries or silos.

18

Read the following and answer 18(1) to 18(4)

Fossil fuels are non-renewable sources of energy because once exhausted they
cannot be re-created in a short period of time. They have been formed by the
decomposition of pre-historic plants and animals buried under the Earth’s crust
millions of years ago.
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1. Select the incorrect statement

The advantages of using CNG and LPG as fuels are:

a) They burn with a smokeless flame and so does not cause any poilution.
b) They leave no ash on burning.

¢} They are easily obtained in nature.

d) They are easy to handle and convenient to store.

2. In India, the Petroleum Conservation Research Association (PCRA) advises
people of how to save petrol/diese]l while driving. Their tips are :

a) Drive at a constant and moderate speed.

b) Switch off the engine at traffic lights.

¢) Ensure regular maintenance of the vehicle.

d)All the above.
3.The white semi-solid fraction of petroleum used for making Vaseline is
(a) asphalt (c) paraffin wax (b) lubricating o1l  «  (d) fuel o1l
4. Petrochemicals are useful substances obtained from
a) Petroleum b) Coal ¢) LPG d) Diesel
19 | Read the following and answer 19(1) to 19 (4)
Ram, Shyam, Sonu and Mona decides to play outdoor and indoor games
respectively during their vacation at Shimla. Ram and Shyam prefer skatlng on
ice whﬂe Sonu and Mona decudes to play carrom board. 7 : .
Cpetpes ot 0o B VLW Lbs ¢ P UREEER. ba b
1)Sonu and Mona were able to play the carrom board comfortably by
a) applying oil to reduce friction.
b) applying oil to increase friction.
¢) by sprinkling powder to increase friction
d)Sprinkling powder to reduce friction
2) Girls later joined the boys and tried to skate on ice. Initially, they could not
skate as it provides
a) Maximum friction b) zero friction ¢) stability d) minimum friction.
3 ) Ice skating is an example of ----- friction
a)sliding b)static cjrolling d)limiting
4)Four kids were asked to arrange forces due to rolling ,static and sliding in
increasing order. Their arrangements are given below:
a) Rolling, Static, Sliding b) Static, Rolling, Sliding
c) Rolling, Sliding, Static d) Sliding, Static, Rolling
20

Reud the following and answer 18(1) to 18(4)
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On a dark June afternoon an American g%
scientist Benjamin Franklin decided to o
fly a kite, with the help of his son. He
attached his kite to a silk string, tying
an iron key at the other end. Next,
they tied a thin metal wire to the key
and inserted the wire into a Leyden

Philadelphia
1752

,;,-\ |

| jar. Later a thunder storm approached, they attached a silk ribbon to the key.

They flew the kite and ran into a shelter to avoid getting wet.

1) What insulated Franklin from the charges on the key.
a) dry silk string b) tin metal wire ¢) thunder storm  d) metal key.

2) In the above experiment, which material do you think is used to store
charges.

a) Dry Silk rope c) Wet Hemp rope  «

b) A Leyden jar d) Metal Key

3) When the storm clouds passed over the kite
a) The negative charges passed through the kite, key and the Leyden jar
b) The positive charges passed through the kite, key and the Leyden jar
¢) Both charges passed through the kite, key and the Leyden jar equally
d) Both charges were static on the surface of the kite

4) The process of flow of charge to the Earth is called
a) electrification b) electric discharge
¢) charge accumulation d) ionisation

21

SECTION B

Identify the microbes with the given characteristics.
a) Biological nitrogen fixer c) It causes malaria
b) Carrier of dengue d) Promotes curd formatjon

22

Ria thought of making curd. For this, she took lukewarm milk, mixed some
curd into it. She kept the mixture in fridge. Next day she observed that curd
was not set. Can you tell why the curd had not set?.

23

Smitha was interested in doing experiments in the lab. She took copper
sulphate solution in a beaker and added a few nails into it. Afier sometime she
observed that the blue solution turned into green solution.

a) Why did the blue solution turn green?

b)Write the chemical equation for this.

24

i)Draw the atomic structure of oxygen .
ii) What are valence electrons?

25

Friction is both a friend and a foe. Justify the statement by giving one example
for each.

26

Write two factors affecting friction.
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27

SECTION C

In this present pandemic situation where corona is spreading everywhere, we
need to be cautious and follow the necessary precautions. It is also essential
that all of us need to be taking vaccines.

a) What is a Vaccine?

b) Why should we be vaccinated?

¢) Name any two diseases for which vaccination has been found.

28

A farmer was very happy seeing the growmg paddy crops as they were
healthy and he was sure that it would give him a good yield. But when he saw
some other plants growing here and there, he was not happy.

a) Why was the farmer not happy seeing the other plants growing?

b) What should he do in this kind of a situation?

¢) What kind of protective measures should the farmer take to ensure that it
does not repeat again?

29

A change in weather made Rahul develop severe cold. When he visited the
doctor, he was prescribed a course of antibiotics.

a) Which type of microbe can be and cannot be treated with these antibiotics.
b) Give the names of any two antibiotics.

¢) Name the first antibiotic prepared.

3¢

Sarita went to the market to buy a blanket. The shopkeeper showed her
blankets made of acrylic fibers as well as made of wool. She preferred to buy
an acrylic blanket. Explain why?

31

a) Differentiate between thermosetting plastics and thermoplastics.
b) Write one example for each.

32

Give reasons for the following.

a) Aluminium foils are used to wrap food items.

b) Copper cannot displace zinc from its salt solution.
¢) Sodium and potassium are stored in kerosene

33

a) Explain the working of a lightning conductor?
b) Write any two safety measures to be taken at the time of lightning.

34

SECTION D

1)What happens when:
a) Dilute sulphuric acid is poured on a copper plate?
b) Magnesium is bumt in air?
Write word equations for the above reactions.
ii) An archaeologist found gold coins, copper coins and iron swords while
digging at a site. On washing them carefully, he observed that
a) The gold coins were shining brightly.
b) The copper coins had a greenish coating
¢) The iron swords had a reddish-brown coating and were chipped from
the sides.
Explain the above observations with suitable reasons.

Page-6



35

Complete the given nitrogen cycle by filling in the blanks.

ATMOSPIRERIC

/ NITROGEN

Arinzals
cal
plants

\) Conpounds ul
Nitrogen in the Saoil

b) What is the percentage of nitrogen and oxygen in the atmosphere?

¢) Mention any two uses of nitrogen to the plants?

35

a) Define pressure.

b) Write the effect on pressure when the area is halved.
c) With a relevant activity illustrate that liquids exerts pressure at the walls of
the container.

e o ok ol e e ok ok ol ok ok 3 ofe oo o ofe o OB R e s ok s ok ok o e ofe ol ofe ok ke oo o o o o o ook ok ok
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£ = SINDHI HIGH SCHQOL, BENGALURU
\\l2/  HALF YEARLY EXAMINATION- 2021-22
"""""""" SOCIAL SCIENCE

CLASS: 8 Marks: 80
Date:-8-10-21 TIME: 3hrs 15 min

Number of sides printed: 7

GENERAL INSTRUCTION

« The question paper contains four sections.

s Section A has 20 questions. Attempt all.

e Section B has 3 questions {Case based) and 3 questions based on Assertion and Reasoning. Attempt
all. |

s Section C has 13 questions {2 markers, 3 markers, & 5 markers). Attempt all.

s Section D contains 2 Map based questions. Attempt both the quesfions.

e All questions are compulsory.

SECTION A

MULTIPLE CHOICE QUESTIONS

1

2

3

4

5

6

in 1817, a Scottish economist and political philosopher, published a massive
three-volume work, A History of British India. 1
(a) James Mill (b) Dalhousie

(c) Canning {d) Robert Clive

Robert Clive led the Company’s army against at Plassey. 1
(a) Aurangzeb (b) Mir Jafar

{c) Sirajuddaulah (d) Mir Qasim

In 1785 Tipu Sultan stopped the export of through the ports of his 1
kingdom.

{a) Sandalwood (b} Cardamom

(c) Pepper (d) Ali of the above

A dripping tap wastes litres in a year. 1
{a) 1200 (b) 1500 (c} 1300 (d) 1100

CITIES is 1

(a) Commission on International Trade in Endangered Species of Wild Fauna and flora
{b) Convention on International Trade in Endangered Species of Wild Fauna and flora
(c) Convection on International Trade in Endangered Species of Wild Fauna and flora
(d} Conservation on International Trade in Endangered Species of Wild Fauna and flora

Resources that are drawn from nature and used without much modification 1
(a) Natural Resources (b) Resources
(c) Human made resources {(d) Human Resources
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Secularism refers to the separation of religion from
(a) State (b) Individuals
(c) Community {d) Groups

are not allowed to celebrate the festivals of any particular
religion to promote Secularism.

(a) Private Schools {b) Government Schools
(c) Madrasas (d) Pathshalas

What kind of role citizens of india play in electing representative?
(a) Indirect (b) NoYole
{c) Direct {d) Submissive

The Mahalwari system was devised by an Englishman called
{a) Thomas Munro (b) Holt MacKenzie
(c) Charles Carnwallis (d) Wellesley

Kalamkari print was created by the weavers of
(a) Assam (b) Uttar Pradesh
(c) Andhra Pradesh (d) Karnataka

city in Saurashtra is completely dependent on purchasing water
from nearby talukas.
(a) Bhuj (b} Rajkot
(c) Amerali (d) Surat

diamond is the rarest diamond
(a) Green (b} Red
(c) Blue : (d) White

Who was the first Prime Minister of free Iindia?
(a) Jawaharlal Nehru {b) Lal Bahadur Shastri
{c) Mrs. Indira Gandhi (d) Guljari Lal Nanda

The Hindu succession amendment act was passed in the year

(a) 2004 (b) 2005 (c) 2006 (d) 2007

Sindhis are sometimes compared to as they show exemplary wisdom
not only to survive in the harshest of environment but also prosper.

(a) Jews (b) Christians

(c} Muslims (d) Sikhs
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Approximately lakh Hindu Sindhis migrated to India in the wake of the

_ partition.
{a) 11 (b} 12
(c) 13 (d) 14
The bare ground between plants is covered with a layer of organic matter
(a) Intercropping (b} Mulching
(c)Rock dam (d) Shelter belts
The oldest rocks in the world are in the
(a) Central Australia (b) Eastern Australia
{c) Western Australia (d) Northern Australia

20

21

-

When did Jallianwala Bagh massacre take place?
(a) 13th March {b) 13th June
(c) 13th April (d) 13th May

SECTION B
Read the extract and answer the questions.

The life of tribal groups, as you have seen, was directly connected to the forest. So
changes in forest laws had a considerable effect on tribal lives. The British
extended their control over all forests and declared that forests were state
property. In these forests people were not allowed to move freely, practise jhum
cultivation, collect fruits, or hunt animals. But once the British stopped the tribai
people from living inside forests, they faced a problem. Colonial officials came up
with a solution. They decided that they would give jhum cultivators small patches
of land in the forests and allow them to cultivate these on the condition that those
who lived in the villages would have to provide labour. Many tribal groups reacted
against the colonial forest laws. They disobeyed the new rules, continued with
practices that were declared illegal, and at times rose in open rebellion.

1. Some forests were classified as : 1
(a) reserved (b} village
(¢} protected (d) state

2. In many regions department established forest villages to 1
ensure regular supply of cheap labour.
(a) police {b) agricultural
(c) forest (d) None of the above



3. The tribals who lived in forests were considered to be . 1

(a) settled and civilised (b} wild and savage
(c) settled and savage (d) wild and civilised
4. The revolt of Songram sangma in 1906 was in s 1
(a) Bengal (b) Assam
(c) Andhra Pradesh (d) Orissa

22 Read the extract and answer the questions.

Minerals occur in different types of rocks. Some are found in igneous rocks, some
in metamorphic rocks while others occur in sedimgntary rocks. Generally metailic
minerals are found in igneous and metamorphic rock formations that form large
piateaus. Iron-ore in north Sweden, copper and nickel deposits in Ontario, Canada,
iron, nickel, chromites and platinum in South Africa are examples of minerals found
in igneous and metamorphic rocks. -
Sedimentary rock formations of plains and young fold mountains contain non-
metallic minerals like limestone, Limestone deposits of Caucasus region of France,
manganese deposits of Georgia and Ukraine and phosphate beds of Algeria are
some examples.

Fill in the blanks.

1. Minerals occur in different types of . 1
2. is an example of metallic mineral. 1
(a) Limestone (b} Bauxite
{c) Mica (d) Gypsum
3. Non- metallic minerals are found in rocks. 1
(a) igneous (b) Metamorphic |
(c) Sedimentary (d) All of the above ~
4. Copper and nickel deposits are found in 1
(a) France (b) Ontario
(c) North Sweden (d} Ukraine

23 Read the extract and answer the questions.

Created after 1947, the Indjan Parliament is an expression of the faith that the people of
India have in principles of democracy. These are participation by people in the decision-
making process and government by consent. The Parliament in our system has immense
powers because it is the representative of the people. Elections to the Parliament are
held in a similar manner as they are for the state legislature. The Lok Sabha is usually
elected once every five years. The country is divided into numerous constituencies. Each
of these constituencies elects one person to the Parliament.



1. Which is the supreme law-making institution? 1

] ~ (a) Supreme Court (b) High Court
-~ {c) Parliament (d) District court
2. Name the two houses of the supreme law-making institution. 1
(a) Red House and Blue House

{b) Rajya Sabha and Lok Sabha
(c) Legislative Assembly and Legislative council
(d) General House and Specific House

3. Total strength of upper house is- 1
(a) 245 (b) 545 (c) 445 (d) 243
4. The lower house is presided over by the — 1
{a) Prime Minister (b) President
{c) Vice President (d) Speaker
24 MATCH THE FOLLOWING 1
VV ;1The Indian State a) lIsrael
! 2. The force used by a legal authority | b) Secular
. 3. Jewish State c) Abolished
| 4. The practice of untouchability d) Coercion
(a)1a, 2b, 3¢, 4d {b) 1b, 24, 34, 4c
(c) 1c, 2a, 3d, 4b {(d} 1d, 2a, 3b, 4c

25.In the Questions given below there are two statements marked as Assertion[A] and
Reason[R]. Read the statement and choose the correct options

88 Assertion A] In Saudi Arabia, Non-Muslims are not allowed to build a temple, 1
church etc
- Reason R] Non-Muslims are discriminated
—~ (a) Both A and R are true and R is the correct explanation of A
(b) Both A and R are true and R is not the correct explanation of A
(c) A is true R is False
{d) Ais false R is true

26 Indian Secularism uses various strategies to practice Secularism. Identify 1
which strategy is used for the following example
ASikh need not wear a helmet
{a) Strategy of Intervention
{b) Strategy of Non interference
{c) Strategy of distancing itself from religion
(d) Strategy of equality




SECTION C

27 Write any two common methods used to conserve land.

28 How does India ensure Secularism?

29 What were the changes in the composition of the Company’s army? Explain.
30 How do surveys become important?

31 What is shifting cultivation? Explain in detail. (1/2 x6=3]
32 Differentiate between conventional and non-conventional sources. 3
33 List any three Principles of Sustainable Development. 3
34 Differentiate between Lok Sabha and Rajya Sabha.. 3
35 ‘Separation of Power’ is one of the key features of the Indian Constitution. Explain 3

36 Why were the ryots reluctant to grow indigo? Explain in detail. 5
37 Define soil. Mention and explain any four factors of soil formation. (1+4)
38 Explain Unpopular and Controversial laws with example. * 5
SECTION D
39
a. On a political map of India, identify the following places with the help of the =
clues given:
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1. On a political map of India, 1 is marked as It was below dignity to become a labourer 1

(‘a) Baigas (b} Gaddis
{c) Van Gujjars (d) Saharia
2. On a political map of india, 2 is marked as A tribal group lived in 1
Chottanagpur
(a) Rathwa {b) Mundas {c) Gonds {d) Bhil
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a. Europe

1. On the political map of the world ‘A’ is marked as the largest producer of bauxite. identify the
continent from the following options.
c. Asia

b. Australia
d. Africa

2. On the political map of the world ‘B’ is marked as the continent rich in mineral resources. Identify
the continent from the following options.

a. Africa

. Antarctica

b. Europe
d. Asia

a. Asia

3. On the political map of the world ‘C’ is marked as the leading producer of iron ore. |dentify the
continent from the following options.
c. Europe

b. Australia
d. North America.
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Class: VIII Max Marks: 30
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No. of sides: 3

GENERAL INSTRUCTIONS:
* Write your name, roll number, class & section, date and
subject clearly in the answer script.
¢ All questions are compulsory

l. Fillin the blanks with the correct words. (2x5=2%)
1) A....o.....is simply an organized collection of data.
2) The Short Text data type has a maximum Of ......co.oeveeeerrivversan, characters.
3) Records in a table are arranged according to a common reference value known as the
................... key.

4) Datacanbe addedonlyinthe .....cocoeeeevervveerveennnn, View,
L — give us data in a printer-friendly format.

II. Write T for the true statement and F for the false one. (*2x 5= 2%)
1} We can only create a Query using the Query Wizard.
2) The primary key icon resembles a keyboard key
3) Once data type is assigned, you cannot change it
4} Youcan also create a form using the Split Form option.
5} Youcan also enter data in design view.

III. Choose the correct options (2x5=2%)
1} Which of the following is a valid field name?
a) SHS.Hebbal b} SHS_Hehbal ¢} SHS Hebbal d) SHS-Hebbal

2) When an Access file is saved, what file format does it take?
a} .PST b}.RDB c) .accdb d).0ODB

3) By defauit, the first field in a new table is:
a) No b} 1D ¢)S.No d) All of these

4) Which of these data types can have only one of two values, True or False?
a) OLE Object b) Large Number c} Yes/No d) None of these

S) This limits the values that a field can accept
. a) Input Mask b) Validation Rule ) Caption d) Default Value



IV. Write one word for the following. {ax5=2%)

1) it lets you enter and display data in a customized format.

2) It retrieves data from one or more tables based on a selection criterion.
3) Itdisplays the error message when a validation rule is violated.

4} it stores the information about an entity in a row.

5) Itis the most popular model in the database.

V. Search for five words related to Access 2016 in the grid below (Yax5=2%)
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VL. Figure Speak (Y% x5=2%)

Label the parts marked in the figure.
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Vil. Application Based Questions (2+1%+ 1% =5)
1} Aman wants to create a table with the following fields:
Player!D, PlayerName, Date of Birth, SportsPlayed, Nationality, international_Player,
Remarks.
a) What will be the appropriate data type of all the fields?
b) Which one will be the primary key?

2) When you create a form in MS-Access, The three view options that appear on the
bottom-right corner on the Access-window, Answer the following accordingly.
a) Which view is used for formatting the form?
b) Which view is used for entering and editing data in the form?
¢) Which view is used for designing the form?

3) Look at the table and answer the following id -MobileName Qty Price Total

a) How many records and fields are there in the table 1 Samsung 100 ‘12000 1200000

' b) What is the d f field?
- ) What is the data type of the ID field 5 s 200 ‘10000, 2000000

¢) How are the numbers 1,2,3,.....etc., are entered in

i 3 Motorola 150 15000 2250000
i the D field?

4 Xiaomi 7000 10000 700000

VIIl. Answer the following Questions (2x5=10)

1) Name the two views of the table in database.

2} Name any four objects of the database.

3) Name the different types of databases.
4) Name the two methods of creating a query.

5} Name the two parts of a table design screen,
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